Momentum and Impulse Review Answers 

(Reminder: You will receive credit for completing the review, if you show ALL your work)
Problem 1:

(a)
7.5 N(s(
(b)  7.5 N(s(
(c)
0.25 m/s(
(d)
0.125 m/s(
Problem 2:

(a) 7.2 N(s(
(b) 8.8 N(s(
(c) 11.4 N(s @ 129.3( or 50.71( north of west

(d) 57 N @ 129.3( or 50.71( north of west

Problem 3:

(a) + 10 N(s

(b) + 8 N(s

(c) + 18 N(s

(d) +3.6 m/s


Problem 4:


4.41 m/s (

Problem 5: 

(a) 9000 N(s( (East)

(b) 14000 N(s( (North)

(c) 16,643 N(s @ 57.3( north of east

(d) 16,643 N(s @ 57.3( north of east

(e) 13.9 m/s @ 57.3( north of east

Problem 6: 

Please make the following changes to the problem:
(a) Calculate the x and y components (px and py, respectively) of the momentum of M1 before the collision.  
(b) What is the total momentum of M1 after the collision?

(c) What is the speed of M1 after the collision?
(d) What are the values for:

i. KE of M1 before the collision

ii. KE of M2 before the collision

iii. KE of M1 after the collision

iv. KE of M2 after the collision

(e) Was the collision elastic?  What evidence supports your answer?

Answers:
(a) Px1 = +6 N(s, Py1 = +8 N(s

(b) 5.72 N(s @ 83.1( north of east

(c) 2.86 m/s @ 83.1( north of east

(d) i. 25 J

ii. 0 J

iii. 8.18 J

iv. 16.82 J

(e) NO – explain why

